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Instructions to the candidate :

1. Candidate must enter his / her Question Booklet Serial No.
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5.  This question booklet is divided into two sections — Section-A and

Section-B.
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SECTION - A
( Objective Type Questions )

Question Nos. 1 to 100 have four options out of which only one is
correct. You have to mark your selected option on the OMR Sheet. Out

of 100 questions you have to attempt only 50 questions. 50 x 1= S0
Rajeev can win the prize,

( Choose the correct passive voice )
(A} Prize has to be won by Rajeev
(B) Rajeev has to win the prize
(C) Rajeev is to win the prize
(Q] The prize can be won by Rajeev
He'said, “What a pity ”

( Choose the carréct indirect narration )
(A) He exclaimed that it was a great pity
(B) He said that it-is a pity
(C) He cried that it is a pity

(D) He consoled that it is a pity
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3. The antonym of ‘Economical’ is
(A) Reward (B) Extravagant
(C} Ignoble (D) Loss
4. Sheis knitting and ...................... TV.
( Choose the correct option )
(A)  watch (B) watched
(C)  watching (D) will watch
S. i, [ don’t like it.
{ Choose the correct option )
(A)  Similarly (B) Subsequently
(C) Personally (D) Habitually
6. seresrsssnieeeeeee.... YOU learn it when you were at school 7P
( Choose the correct auxiliary verb )
(A) Do (B) Did
(C) Have (D) Has
7. Choose the correct sentence :
- (A) She is both a dancer or a poetess
(B) She is both a dancer nor a poetess
(€) She is both a dancer and a poetess
(D) She is both a dancer as well as poetess
8. I like to ........ccoceeveeennee. when [ am tired,

( Choose the correct option )

(A)  sing (B) singing
(C) sings . (D) sang
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Q. He sat

[ Choose the correct preposition )

(Al for (B) into
(C) after (D) beside
10. Where will «.ovvveenin go from here ?

( Choose the correct option |

&) you (B) us :

(C} them (D) their
LI Ifit....................., we shall not go to zoo.

( Choose the correct option )
(A) raining (B) will rain
(C) rains (D} has rained
The doctor advised the patient to stop drinking,.

( Choose the correct direct narration }I
(A) The doctor said to the patient, “Stop drinking.”
(B) Th;e doctor says to the patient, “Stop drink.”
(C) The doctor will say, “Stop drinking.”
(D} The doctor had to say, “Stop drinking.”

13. Choose the correctly spelt word :

(A) Forcignor (B) Foreiner : /y
(C) Forienor . (D) Foreigner /r?f

14. The manager gave his assistant .......cceeees ; ,{

({ Choose the correct phrase )

(A) a gist of the work (B) . a dull suggestion 3

(C) a piece of his mind (D) all moonshine
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1S. A ot of SWPS cross o Pacific Ocean.
[ Choose the correct article )
(A) & (B) an
€] the (D) no article
16, Lets watch a film, .................. =
( Choose the correct option )
(A} shall we (B] don't we
(C) do we (D) aren’t we
17 My servant took advantage .......................... my absence.
( Choose the correct preposition )
(A)  of (B) from
(C) in (D} about
18. Thopethe ........oooovvvuvvv 1s fine
( Choose the correct option )
(A]  weather (B) whether
(C) whither (D) wither
19.  Choose the correct sentence :
(A) It is high time he will start earning
(B) -1t is high time he started earning
(C] Itis high time he starts earning
(D) It is high time he has starteq earning
20  Choose the correct antonym of ‘Brillignt’ :
(A) Apparent (B) Flat
(C) Dull (D) Shining
607/12001 Page 6 [ 24
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.......................... I_'l[].[]l{ dn :,rou likc mnBl ?

( Choose the correct option )

(A)  This (B) Which
(C)  That (D) Whom
Radhika .............c...... L to go home now.

- ( Choose the correct option )
(A have (B} has
(C) may (D} was
Choose the odd one out : )
(A) Rose (B) " Hibiscus
(C) Jasmine (D} Water
When something tastes disgusting, it is

( Choose the correct option )

(A) awful (B) spicy
(C) tasty (D) sour
Don't go any |

( Choose the correct option )

(A), further (B) either

(C) neither (D) other

HOW vvvvvenererenersseneennne. did your fridge cost ?

( Choose the correct option )

(A) many (B} some

(D) much

(C) any
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_allow you to
The bank closes at two, but the MAnager oo

get i,

| Choose the correct option )

(A} can B) would

(C) ought (D} should

T . ¥ N "
Nazia is afrajd PP RRRTPRRRE -2 « 3 1+ () ¢ 1

( Choose the correct option )

(A} from (B) in

(C)  about (D) of

Ilike my LOUSITG, VUt he i always late.
[ Choose the correct option )

(A) s (B) was

(C) are (D) am

Rita likes to cat ice-cream. Sita prefers yoghurt.

[ Choose the correct combination of sentences.)
[i} Riti-i likes to eat ice-cream and Sita prefers yoghurt
(B) Rita likes to eat ice-cream but Sita prefers yoghurt
(C) Rita likes to eat ice-cream yet Sita prefers yoghurt
(D) Rita likes to eat ice-cream so Sita prefers yoghurt
A person living permanently in a certain place ;

( Choose the correct option )
(A) Citizenship (B)

Resident

(C) Dominion (D) Subject
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My neighboun . ki epps yesterday.

[ Choose the correct option |

(A ran (B) ran out of

(C)  ran into (D) ran up

‘Qut and out”

( Choose the correct meaning )
(A} No moie (B) Thoroughly

(C) In favour of (D) Deadly against

Choose the correctly spelt word :

(Al Animosity (B) Anemusity
(C) Anemosity (D) Anumusity

Very destructive weapons have been invented in the modern age.

"

( Choose the correct adverb ) -

() Very (B) Destructive

(C) Weapons (D) Invented

Neither he ....cooccvernnnnne his friend is good.

( Choose the correct option )

(A) or (B) and

(C) but (D) nor

She returned to the .....cvvvvvveeveeeecnvneens.. of the accident, .
( Choose the correct option |

scene

(A) seen (B)
(C) see (D) sign
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(A)  Compare (B) Distinguish
(€} Comprehend (D) Correct
39.  Choose the correct antonym of ‘Alert” :
(A)  Vigilant (B) Keen
(C)  Careless (D) Aware
0. We ... . nothing to eat since morning.
( Choose the correct option )
(A)  having (B} have had
(€} will have (D) have have |
41. The technique of paraphrasing |
( Choose the correct option )
(A) are practised (B] has to be practised
(C} have to be practised (D) is practising
42. He complimented her .......... ... her dress.
( Choose the correct preposition )
(A) for (B) of
(C) on (D) about
43. Heis ccviviiiiiniiiicnnnn.. basketball player.
( Choose the correct article ) -
A) a (B) an
(C) the | (D) no article

—_———
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My friend had to pay through his nose for his brand new sports bike,
( Choose the correct meaning of the underlined phrase )

(A pay an extremely high price

(B pay a reasonable price

(C) pav huge loans

(D] pay after getting discount

A disease that spreads over a large area :

( Choose the correct option )

(Al  Academic (B) Epidemic

(C) In_c:orrigiblr: (D) Acre

Mamta, you ....cc.cccevmmuveernnens leave your clothes all over the floor.
( Choose the correct option ) .

(A) mustn’t (B) must

(C)] have to (D) had to

¥ i < R my work before he came.

( Choose the correct option )

(A) had finished (B] have been finished

(C) will finish (D) was finished
I didn’t enjoy mathematics JESSOMS vvvvrvsnneessesesnnienens. ] Was at school,

( Choose the correct option )

(A) until (B) when
(C) because (D) and
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Lreceive no

Hnes.
answer, | knocked several un

( Choose (e best combination |

W Tknocked several times but received no answer

B) 1 knocked several times and | received no answer

(C) R!:Cui\'ing no answer, | knocked several times

(D) T have received no answer because | knocked several times

She often .. ... shopping on the weekend.

( Choose the correct option )

[A} EO [B] goes

(C)" going (D) to

Choaose the correct sentence -

(A) The City is (0o crowded with buildings and vehicles everywhere

(B)  The city too crowded with buildings and vehicles everywhere
(C)  The city is too crowded with building and vehicle everywhere
(D) The city is too crowding with buildings and vehicles everywhere
They oo coming tomorrow,

( Choose the correct option )
(A) are (B) is
(C) was (D) were

Which type of sentence is this ?

Find it |
(A) Declarative (B) Interrogative
(C) Exclamatory (D) Imperative
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TR TRTS «ommuuinssiainninse saimamsi v ripe.
( Choose the correct option |

(A)  almost (B) badly

(C) most (D) acutely

Her eyes are blue.

( Choose the correct adjective )
(A) Eves (B) Her
(C) Blue (D) Are
Who does not know Sardar Patel ?

( Choose the correct Assertive sentence )
(A) Evervone knows Sardar Patel
(B) Knows everyone Sardar Pate,
(C) Sardar Patel everyone knows

(D) Everyone Sardar Patel knows

The child has been .............. ST, S by her stepmother.

( Choose the correct option )

(A) setup (B) called off

(C) carried out (D) brought up

[ think T will DUy c.cocvmammiannenes ... new shirt for my father.

( Choose the correct article )
(B) an

(C) the (D) no article
Page 13 / 24
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... moral laws,

(A) o (B) againsl
[C:l ﬂh{l"‘.’e (D] towards
I'woulg

" him, if he had apologized.

[ Choose the correcy option )

(A) lorgive (B) have forgave
(€} have rgive (D)  have forgiven
Instruction E

Questions from 61 to 100 are based on the prescribed
texts,

Happiness is largely g

(A)  mentg condition

(B) physical condition
(C)  disease

(D) imagination

---. is the prime Instrument of nation building,.
(A) Agriculture

(B} Trade
(C)  Education (D)  Sports
Nanukaka was lostayfor....................° days,
(A) 3-4 days (B) 2-3 days
(C) oné month (D) 15 days
Martin Luther King, Jr. was a
(A) Scientist (B) Artist

(C) Philosopher (D) Civil right activist

Every human death by starvatiop ig Preceded by g long period of

(A) trouble (B) difficulties

(C) hunger (D)

anxiety

[607/12001 1 Page 14 / 24
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inch gourd from an old woman.

Seibei bought a
(Al four (B) five
(C)  six (D) seven

Traditional method of child-birth is accepted

(A) fearfully (B) dangerously

(C)  culturally and collectively (D) laughingly

free in a peaceful British.

The press, as a whole, iS ...ccovvvvvreveerireennnn
(A} pretty (B) extremely
[9‘ so far (D) not

When Benzy left school, he had

(A)  forty or fifty hens (B) thirty or forty hens

(C) sixty or seventy hens (D) eighty or ninety hens

For all the ills of India, Pearl S. Buck blames
(A) Indian (B) the English rule

(C)] Americans (D) Africans

Lomov said that the ..ococveeiiiiiveniianinns meadows were his.

(A) Cow (B) Ox
(C) Goat (D) Lamb

The distinguishing characteristic of modern civilization is our

indefinite
(A) restlessness (B) anxiety

(C) multiplicity of wants (D) progress

Page 15 / 24
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1d confidence ol his people in

Who was overwhelmed by the (rust at

ham 2

Dr. Zakir H usain

. sell
(C)  Pearl S. Buck (D) Bertrand Rus

i I] cy.
LI R Tiaaaas e P, " -ItS I[_I r n]ﬂt 10 e

(A} A Canadian (B) An African
(C)  An Indian (D) A Sylhen
Pearl 8. Buck came to know about India through
(A)  Islam (B) Buddhism
(C) Christianity (D) Hinduism
What does John Donne promise to his beloved ?
(A)  To come back the next day

(B)  To return as soon as his work is done

(C} To make speedier journey than the sun

(D) Not to go away from her

“I harbour for good or bad, I permit to speak at every hazard,” is
written by

(A) John Keats (B) John Donne

(C} Walt Whitman [Q] D. H. Lawrence

The leaves are falling

(A) | slow - {B) intermittently .
(C) fast (D) fastest

“And gathering swallows twitter in the skies,” is taken from
{A) Snake B A g
Q) Odeto utamn (D) An Epitaph
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The poet Walter de la Mare thinks that ..o is not
everlasting,
(A]  beauty (B} cruelty

(D) love

[C_} ugliness
The images and praises of .................... run through both the stanzas

in The Soldier’.
(B) America

(A}  England

(C) France (D) India
Macavity moves like a

(A)  scorpion (B} snake
(C)] monkey (D) rat

At the burning ghat, the poet sees the red hot

(A) iron (B) face

(C)] embers (D) flowers

A snake appears on a trough of the ...................... to sip water.

(A) doctor (B) teacher

(C) nurse (D) poet

The house went into silence due to the death of the

(A) grandmother (B) man
(C) girl | (D) hboy

Macavity’s foot-prints arc not found in any ................. . of the
Scotland Yard.

(A) file (B) book

(C) copy (D) bill

S ——
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"The Soldier” deals with

& war
Al happiness ©)

culture
(C) festivals l_Dj

a3 P 3 18C,
Whao S4¥s, "He hath no desire nor ser

Nor halfe so short a way " ?

(A} T.S. Eliot (B) John Donne
(€] wal Whitman (D) John Keats
The poem, ‘Ode tq Autumn’ describes ‘the characteristic ...

of autumn'

(A)  spirig {5:_; abundance

[C] maturity (D) happiness

Walt Whitman says ‘T, - myself, and sing myself”,

(A)  enjoy ; (B) kil

(C) love (D) celebrate

Who is considered to be the pioncer of modern English nove] ?

(Al Chaucer (B Wyeliffe

(C) Langland (D) Fielding

Who wrote the play, Tughlaq' ?

(A) Toru Dutt (B) Girish Karnad

(C} R.N. Tagore (D)  Sarojinj Naidu

English developed intg a single standard language known ag

(A) Queen’s English (B) King’s English

(C) Prince's English (D) F‘rinccss’English

607/12001
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a4.  Who wrote Tom Jones' ?
(A)  Chaucer (B) Austen

(€) Langland (D) Fielding

95. How many dialects are there in ‘Modern English’ ?
(A)  Five (B) Six
r

(C) Four (D) Three

96. Which Indian English poetess is known as The Nightingale of India’ ?

(A) Sarojini Naidu (B) Kamala Markandaya

(C) Kamala Das (D) Arundhati Roy

97. Invention of the printing press happened in

(A] Middle English (B) Old English

(C) Modern English (D] Post-modern English

98. The languages the Anglo-Saxons used were

(A) Old English (B) French

(C) Middle English (D) Germanic

Who wrote ‘The Bachelor of Arts’ and ‘The English Teacher'?

99,
(A) Mulk Raj Anand (B) Rabindranath Tagore
(C) William Langland (D) R. K. Narayan

100, ..oositeiisnrneriiass translated the Bible into English.

' (A) John Milton (B) Richardson

(C) Geoffrey Chaucer (D) Wryclifle

Iﬁu?ﬂmol | Page 19 / 24
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SECTION - B
Quesﬂﬂns )

. Type
( Descriptive TYP out 150-200 words .

i s aly
. ng in a
Write an essay on any one of the folloY "

lx8= 8
|_il] !:Inity is Strength
b)  Globa] Warming
€} Traffic Jam
4 Role of Youth in Nation Building
e) My Hobby.
Explain any one of the following : bt eg

a) I have a dream that one day this nation will rise up and live oyt
of the true meaning of its creed.

b) This means that the cheap daily paper, which goes everywhere

and has most influence, is far less free .., .

€} At mother’s insistence, | had taken two days’ leave from the
office, and in the afternoon, I drove Nanukaka to the North Block,
d) “You are an idiot I” he shouted. *“There’s absolutely no future for

a boy like you.”

Explain any one of the following : 1 xd=4

a) And yet those voices -

If you were not afraid, you would kill him 1

b) I think she was the most beautify] lady

That ever was in the West Country,

607/12001 Page 20 / 24



Write an essay on any one of the

a)
b)
c)

dj

e)

Explain any one of the following :

aj)

b)

d)

Explain any one of the following ;

a)

b)

05/ 12-_”-305;"223,5305,!3331
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SECTION - B

Esti'ﬂ‘ns ' I

T = Qll
( Descriptive TYP t 150-200 words -

1 i you
following mn ak

1x8= 8
Unity is Strength
Global Warming
Traffic Jam
Role of Youth in Nation Building
My Hobby.,
1 x4=4

I have a dream that one day this nation will rise up and live oyt
of the true meaning of its creed.

This means that the cheap daily paper, which goes everywhere
and has most influence, is far less free ... .

At mother’s insistence, I had taken two days’ leave from the
office, and in the afternoon, I drove Nanukaka to the North Block.

“You are an idiot |" he shouted, “There's absolutely no future for

a boy like you.”
1 x4=4
Agd yet those voices ; .
If you were not afraid, you woulg Kill him |

I think she was the most beautiful lady

That ever was in the West Country.
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c)  Hedge-crickets sing ; and now with treble soft
The red-breast whistles from a garden-croft ;
And gathering swallows twitter in the skics.
d) Whose white waterfall could bless
Travellers in their last distress.
Write a letter to your friend about your visit to your native village. S
OR
Write a letter to the State Education Minister, about the scarcity of
Mathematics teacher in your school.
Answer any five of the following in about 40-50 words each :
5x2=10

What are the ways of managing childbirth in traditional

a)
societies ?

b) What, according to Dorothy L. Sayers, are the [Wo basic
assumptions about the public ?

c) What did Benjy want to do with money ?

d) What were the benefits of English rule ?

e) Whyis Macavity termed a criminai 7

f) Where did the speaker once receve love ?

g) How did the snake drink the water ?

h) Whyis Latin no longer in populai use ?

i) ~Whatare the dramatic structures of a tragedy ?

i) Name four countries where English is used as a second
language-
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Answer any three of the following i @

a)

b)

d)

/223/305/330

ds: 3=x5=15
0‘120 worl
pout 10

Write the summary of any 0n€¢
i} Macavity : The Mystery Cat

i) Now the Leaves Are Falling Fast
i)  Song of Myself.

T

Write the summary of any one of

the following prose-pieces !

) India Through a Traveller's EYe
i)  Indian Civilization And Culture
ilij How Free is the Press.
Write a note on American English.
OR
What is the future of English in India ?
OR
Discuss English as a second language in India.

Match the names of the poems given in List-A with their poets in

List-B :

List-A List-B
i) Songof Mysell:ﬁ_x“:{______ﬁ_ﬂ__,ﬂa] Walter de la Mare
i) AnEpitaph~— b  Walt Whitman

iii) MyGrandmnth,ei'%cl K.-N. Daruwala
iv) Firc Hymn —d}] John Keats

— ,
v] Ode To Autumn /// \e] Kamala Das
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I Translate any five into English :
C D 3TE Ud gaem figam 96l |

i} W3 U &y = e

i) S A gl gemy o

W) B S R fiven e 8]

¥ S g @ W R

R R CIRCE R

i ¥ Pl 9 e ife)

viil) 1 HIE TR A

f) Match the names of the prose-pieces in List-A with their authors
in List-B :
List-A List-B
i) Bharat is My Home-. 'a) D. L. Sayers
~ ]

Y

ii) A Child is Born ;i _bh) Manohar Malgaonkar

= , T

i} A Pinch of Snuff — H‘x /;?\c] Dr. Zakir Husain
iv) How Free is the Press --/}\ﬂ"a_‘p] G. Greer
v) ldeas that Have Helped Mankind _e) B. Russell
Read the passage carefully and answer the questions that follow -
4x1=4

The natural life span of a domestic horse is about 25-30 years. You
can tell a horse’s age from the number of teeth he has. They get all
their teeth by the age of 5, after which these teeth just get longer.
Horses have close to 360 degree all round vision. The only place they
cannot see is directly behind or right in front of them, which is why

it's very dangerous to stand behind a horse. If they feel anything
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e . harse’s two tYes
behind them, they may kick instantly. Each of the ho

: : it irection
works independently, Wherever a horse’s car points, 1118 the d
] - . 5 i s he
wWhere (he horse is looking. A horse 1S able to sleep standing up a
's able 1o lock his leg muscles so that he doesn’t fall.

Questions -

al  What is the life span of a domestic horse ?

b)  Why is it dangerous to stand behind a horse ?
¢} How can we know in which direction the horse is loaking ?
d)  What helps the horse to sleep while standing ?
OR
Write a précis of the following passage and give a suitable title : 4

A preat advantage of rising carly in the morning lies in the lact that it
glves us a good start in the day's warks. The early riser completes
many of his works before other men get out of bed. In the early
morning, we have a fresh mind and there are fewer sounds to disturb
us. As we have no distractions, the wark is done well. An early riser
also gets sufficient time for exercise which gives him energy for the
day. He also need not hurry up for completing his works as he has
plenty of time at his disposal. As he is able to finish all his works in
time, he is able to go to bed early and so he can enjoy sound sleep till

next morning,

607 /12001

Page 24 / 24




